N = 0l & AHSE B Al M

ol& ot
8+§%EI(EEE—JII%*JH%*/¢IP%)
staze (&2 3R)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
28,228,840 21,751,614 6,477,226
(= 6,817,500 4,972,500 1,845,000
Al 21,411,340 16,779,114 4,632,226
ZR(ZELXGNL/ SRR 13,640,508 9,258,762 4,381,746
[= 6,675,000 4,830,000 1,845,000
Al 6,965,508 4,428,762 2,536,746
Hae| 13,640,508 9,258,762 4,381,746
= 6,675,000 4,830,000 1,845,000
Al 6,965,508 4,428,762 2,536,746
INELGESEPIIEES 3,128,700 2,022,700 1,106,000
401 Al&HIL L2 0HY] 3,128,700 2,022,700 1,106,000
01 Al&H] 3,122,094 2,018,884 1,103,210
OZ)|S YA A2 AXIZA
1,600,000 * 65m 104,000 0 104,000
OSFNAHSIIMAMAT SRAX 0|SA Jtnl
=ONEINS 0 ooo 0002 * 1JHA * 99.10/100 69,370 0 69,370
OSZ=HHZI|QIAANAT AR T3 4T
A2 ItT AXIZA 50,000,00084 * 14 50,000 0 50,000
OYFHNHZI|QIAMAT AKX Flgt L =X
ZHD| &Y 5,000,000 * 23 10,000 0 10,000
O -I 013|O| C".—:o|/\|/\—| _J'\__._M_
90,000,00084 * 14l 90,000 0 90,000
ONE ZHE BAlHIEZ BE3At
50,000,00084 * 14l 50,000 0 50,000
OANZI2SH ZZ 01T 24T
A3 50,000,000 50,000 30,000 20,000
OKNE 2B1AlMel 2318 22| U MEXY
(229 A2 33 02 0 60,000 260,000
OMA M & EX 2HID| =
80,000,000&4 * 23] 160,000 0 160,000
OME(BIEI~SAAAA) GHAAH| ZHI Xt
100,000,00084 * 14l 100,000 0 100,000
OMEEX 0F2A=0I6 =XE &4 Y JYE=2Z
=ONEINS 297,840 0 297,840
300,000,0002 * 1JH24 * 99.28/100
OAMEHIEE OFHEALD OIZAIE (X)) AX
40,000,000 * 14l 40,000 0 40,000
OMEEX |AXIEXE JIEAEXI
20,000,000 * 1JHA 20,000 0 20,000
OARE +MENH =K +82
22,000,00084 * 14l 22,000 0 22,000
OStEE~AML W M HYEZ —i@émM
80,000,00084 * 14l 80,000 0 80,000
OO0 SHA BH2H Mol/AE X7 E+=3At
50,000,000 * 14l 50,000 0 50,000
03 Al&E0HH 6,606 3,816 2,790
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B BRI (REUXAWL/EX)
ol szl (Sr9): 1)
SA - FH - S2(33) - MPAY - BAS Ofl koY pJE=Ll F{ImE=ST
02012 28 0S4 ot SANY
70,000,000 * 1JHA = 0.90/100 630 0 630
OMNMEEX OFel=0IE =XHE =4 & JUER
AXISA 2,160 0 2,160
300,000,000& * 10HA = 0.72/100
StEAIEZ 22| 213,188 106, 199 106,989
101 @1244| 118,714 11,725 106,989
04 JRIH2Z N EE 118,714 11,725 106,989
ON® SX HCIZR| QISY(OFE4E AMDH
2te|LE) 73,2803 * 32H » 25 58,624 0 58,624
ON& £ Aagzel oY
73,280 * 18 = 300 21,984 0 21,984
OXIgsH =¥ 85 U Hy| olee
73,2803 » 498 = 92 * 10JHoHH 26,381 0 26,381
XA AMEE =72l 240,855 229,863 10,992
101 @1244| 21,984 10,992 10,992
04 JRIH2ZNHEES 21,984 10,992 10,992
OgZFs BOE2Y TC| L SZA 22| o2y
Zd 21,984,000 21,984 10,992 10,992
(Z)XILSHEEHI(ME, SH) (HEAY) 7,557,765 4,400,000 3,157,765
= 5,365,000 3,520,000 1,845,000
Al 2,192,765 880,000 1,312,765
401 AIEHIZL 01| 7,557,765 4,400,000 3,157,765
== 5,365,000 3,520,000 1,845,000
Al 2,192,765 880,000 1,312,765
01 Al&HI 7,072,000 3,989,200 3,082,800
ONEXIT SHETHGHOIZL AL (ZE THHIA)
781,764,510 » 14| 781,765 0 781,765
OSHXI7 SHETHGHOI LA
A 6,290,235,000%! 6,290,235 3,989,200 2,301,035
= 5,365,000 3,520,000 1,845,000
Al 925,235 469,200 456,035
02 Zfeltl 470,000 400,000 70,000
OMEXIT SHETHGHOIZL AN (ZE THHIA)
70,000,000 * 14! 70,000 0 70,000
03 Al THH| 15,765 10,800 4,965
OFHRI7 SHETHGHOIL AL
Z& 15,765,000 15,765 10,800 4,965
THoH2e| (SSE UM /THLHLTY - 1)) 13,944,180 12,018,700 1,925,480
= 142,500 142,500 0
Al 13,801,680 11,876,200 1,925,480
St EH| 13,944,180 12,018,700 1,925,480
< 142,500 142,500 0
Al 13,801,680 11,876,200 1,925,480
A5 A 4,820,480 3,278,000 1,542,480




A oDt
M THoHZe(SSE MU /THETH - 218t9])
&2l otEZEHI (cHel:&J)
S - FE . SRI(SH) - HRARY - BAS il ko J|Eo HimE=]
101 @1244| 27,480 0 27,480
04 JIZtHI2 2RSS E+ 27,480 0 27,480
OOISLH2A0t& | 1R
73,2802 * 5% » 256& * 30HA 27,480 0 27,480
401 AIEHIZ 2| 4,793,000 3,278,000 1,515,000
01 Al&H| 4,770,401 3,258,056 1,512,345
ONEI BYHS AAGH B2 SXTA
750,000,000 * 14 750,000 0 750,000
Of/Y A0IE 2SS AXSA
300,000,000& * 14 300,000 0 300,000
OS2I thdHel AHHEAGHE ZHISA
800,000& * 50m 40,000 0 40,000
O0|aHH AFE22| AMHASHE HHISAL
500,000& * 100m 50,000 0 50,000
O0I4HH 2212 2t240td HUISAH
625,000& * 80m 50,000 0 50,000
O&=sH Bt12| HEAGHA EHISA
500,000& * 130m * 99.10/100 64,415 0 64,415
OetEH S1e| 220l FHIZSA
400,000& * 200m * 99.10/100 79,280 0 79,280
OotEH 2A2e| HE=A0td EHISA
700,000& * 100m = 99.10/100 69,370 0 69,370
OQtEH MEle| MSAGHE ZHISA
600,000& * 50m 30,000 0 30,000
O=8H 28| FIEA6HE ZBISA
500,000& * 160m * 99.10/100 79,280 0 79,280
03 AlE =201 22,599 19,944 2,655
O+ gt1e| HZAote ZHISA
500,000 * 130m * 0.90/100 585 0 585
Ot8H E12l etE=A0td HHISA
400,000 * 200m * 0.90/100 720 0 720
OetdH 2H2e| H=40tE ZHISA
700,000& * 100m * 0.90/100 630 0 630
O=8H 28le| FI2AGH ZUISA
500,000& * 160m * 0.90/100 720 0 720
MIEIHE AL 2,638,700 2,255,700 383,000
401 AlEHIZL 2008 2,638,700 2,255,700 383,000
01 Al&HI 2,629,232 2,246,952 382,280
O0l4&tH 22121 2= ME ZHIZA
625,000& * 80m 50,000 0 50,000
OE2H 2212 HY= N& ZHISAM
252,000 * 250m 63,000 0 63,000
O2H gtehel == N& ZBIZSA
1,000,000& * 50m 50,000 0 50,000
OetEH (E2e| == NEEUISA
1,000,000& * 50m 50,000 0 50,000




A SHED
B THRIE (RRE AL /T - 21l
29 stEadl (Sr9): 1)
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t JIEN HwE2
Oor=dl 01=22] NZ=2 NE ZOISA
160,000 * 250m 40,000 0 40,000
OoHED 22| SXI2 NEBHIZA
1,000,000 * 80m * 99.10/100 79,280 0 79,280
OSHIB FH42] JIA2 NI ZHIZA
1,000,000 * 50m 50,000 0 50,000
03 Al&=CHY| 9,468 8,748 720
OoHEE 22| FXI2 NBZHIZA
1,000,002 * 80m * 0.90/100 720 0 720
HLES (5120 (BB ML /T - 01gr2]) 558,712 388,712 170,000
TEPETES 558,712 388,712 170,000
Ve EDES 558,712 388,712 170,000
701 JIEBIHSHES 558,712 388,712 170,000
01 JIEIEIHEES 558,712 388,712 170,000
OXI+MISBEH &E 558,712 388,712 170,000
~CHIBZAR0 T2 MYl 2gE 558,712 388,712 170,000
2lg SAE S SHEFHIBA
213 380,000,0002 380,000 250,000 130,000
R 22 H2 U BHA
A 60,000,0002 60,000 20,000 40,000




